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And to exclude from this xin — RIN N7 PIERD]

Overview

After the X3 concludes that 01p is paid for X% 21 and NN °2°n, the XA)
states that this opinion is contrary to the opinion of this Xin (in the singular), who
is shortly cited. The X723 then cites a Xn>92 in which there is a npY?nn between
*12°nn 1Wwaw (who rules that there is 01p by 1K *2>1 (but not by M3 °2»n) and ™
X°017 12 WA (who rules that there is no 01p even by X7 °2>17 [or even 7wy °2%n]).
Seemingly our mawn (which requires 03p for K% 21 and MmN 1> °2m) disagrees
with both 2°Xin in the Xn>72. The question (which this *"n addresses) is, why does
the X773 say that it excludes (only) this (one) Xin.
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The explanation is that the phrase Xin *Xin p1OX?, is referring to the Nin that
taught this 8n3>92; however the intention of the “19X%' is to exclude from both of

the 2°81n that are mentioned in the Xns"92. The cited X072 was taught by a certain Xin
who mentions the opinions of two other 2°Xin (namely *1°n73 NYAY and X011 12 Nwaw ). Our
mwn disagrees with the Xin who taught the Xn>173, and by extension, also disagrees with both
2°X1n of this Xn»72. This explains why the phrase is mentioned in the singular.

Summary
The Xin of the 71wn disagrees with the Xin who taught the Xn»92 (of “1°n7 NYvnRY

and X°011 12 PWAR ).

Thinking it over
1. Which of the two 2°RIn (°12°D7 1YAW or X°011 12 Nvnw M) are closer (or further)
from the opinion of our 71wn?

2. How could it have been remotely possible (but not actually possible) that the
mwn agrees with one of the oXin of the xn»122°

" The word "ws'is (frequently) used by mooin to indicate that the explanation of the X713 is (somewhat)
different that what may have been initially assumed.
? See following 1"212°11 77 MoOIN concerning YT .



